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G) @ we afrEd ¥
(i) 9 #9im 1 ¥ 5 7@ aghTs W@ & 9 ¥
(i) 91 % 6 ¥ 23 ¥ oran@ faww Re g E
(iv) oEf oayas o @ Td Awied fa TRl
Instructions :
(i) All questions are compulsory.
(i) Question Nos. 1 to § are objective type questions.
(iii) Internal options are given in Question Numbers 6 to 23.

(iv) Draw neat and clean Jabelled diagram wherever required.
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wé faeed gaat fafao -

(i)

(11)

(111)

(iv)

(v)

(vi)

1x6=6
o g ax’ +hx+c W awE # vEw B b

() ®& @ (B w=t T

(¢) Wady (d) =% @&

s @i gm ax+by+c,=0 wd ayx+byy+c,=0 anftm
T W war ¢, o9 -

a b b

@ —L=-L ) L=2L-4
as b: bl a, a,
a, bz €y a, b2 Cy

feam WhE ax’ +bx+c=0 ¥ B yw aRw T G aR

@ b +4ac>0 (b) b%-4ac=0

() b%-4dac>0

(d) b%-dac<0

A. P : —3.-%.2...... @ 18 w1

(a) 28

(b) 22

|
d) -48—
(d) 82

WE AR s 4w @ wTa-am b

(@) W 7. 9 640 - 546 (b) 476 - 550 @ 3.
() 1777 - 1855 4. . (d) @ 3. 9 770 - 850
g P(3,2) sk 0(-2,-3) % 49 & T &

(c) -38

100

(a) 7.09 wmm (b) 7.07 wm
(€) 721 wam (d) 141 wmm
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Choose the correct option and write it :

(i) Quadratic polynomial ax® +bx+c,

(a) straight line

(¢) parabolas

the graph of found on graph paper -
(b) parallcl line

(d) curve line

(ii) The pair of lincar cquations ax + by +¢ = 0 and a,x+b,y+¢; = 0 is
dependent and consistent. if
b
@ L=zt (b) a9 _h_a
ay b b a 4
(c) .EL:-bl.—_.ﬁ- (d) ﬁ_=ﬂ_¢_c_l_
a, b, ¢ a, b, ¢
(iii) No real roots of quadratic equation ax? +bx+c=0, if
(@) b*+4ac>0 (b) b*-4ac=0
(c) b*-4ac>0 (d) b*-4dac<0
(iv) 11th term of the A. P. : —3,-%.2. ..... IS :
(a) 28 (b) 22
(c) -38 (d) -43?12-
(v) The time-period of famous Greek mathematician Thelas is :-
(a) B. C. 640 — 546 (b) 476 - 550 B. C.
(c) 1777 - 1855 B. C. (d) 770 - 850 B. C.
(vi) Distance between point P (3.2) and Q(-2,-3) is :
(a) 7.09 (approx.) (b)y 7.07 (approx.)
(c) 7.21 (approx.) (d) 1.4l] (approx.)
3 WERNININEENR P
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Fra i @ g BT 166

(i) W x & TR P (V) § y @ Jw@aq °id HEATA &1

(i) BTl W ax? + by +c =0 @ gd BT ¥ faard g zl
(V) FARIT & 7. 13,19, ... 205 § o & "@em t

(v) o Bryw gew B9 ¥

(vi) Bt r @ 99 & U@ Bregds, fmer &9 st ¥ 9 ¥, & @ 9
P T gl #

Fill in the blanks :

(1) V3 is a number.

(1) P(x) is a polynomial in x, the highest power of x in P (x) is called

(i) Quadratic formula is solving for quadratic equation

ax2+bx+c=0,

(iv) The number of terms in the A. P : 7, 13,19, ... 205 is

(v) All triangles are similar.

(vi) Length of an arc of a sector of a circle with radius r and angle

with degree measure 0 is

! T-0659
A 4 ISR P.T.O.
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3 fPrefafea ¥ @@ / oww fafg 1x6

(i) zﬁfaﬁaﬁﬁﬁaﬁwuﬁfﬁemm%@aﬁﬁﬁaﬁﬁé’r%@m%l

(ii) ug fafved e @ wiusa | e #4

(iii}adiﬁﬁasanwwqaémj%wﬁsrvﬁﬁaﬁﬁmh

(iw)ﬁm}wﬁﬁawﬁaﬁmﬂma@aﬁﬁw@mWﬁmaWa@eﬁ

¥ i @ gl T A T FHA

(v) R gg Yek ¥ a5 WA W ged afum A o ¥, WA Hewl @

(vi) R s @ ai IR eall ) Wil @ A 1 B ¥

Write True / False in the following :

(i) A line intersecting a circle in two points is called a slant secant line.

(i) Probability of an event which is sure to occur is 1.

(iii) Volume of any hemisphere is 31[?*3 , where r is a radius of circle.
(iv) The height or length of an object or the distance between two distant
objects can be determined with the help of trigonometric ratios.

(v) The mean is that value among the observations which occurs most often.

(vi) The sum of the probabilities of all the elementary events of an
experiment is 1.
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100

T~ A”

(1) sin225°+c052 25¢°
(i) tan®

(iii) sec’O-1

(iv) tan 30°

(v) Prues & daew

(vi) M & gaw

Match the correct column :

Column - “A»
(i) sin?25° + cos225°
(ii)) tan®
(iii) sec?@-1
(iv) tan30°
(v) Area of a sector

(vi) Volume of hemisphere

! T-0659 A

(a)

(b)

(c)
(d)

(e)

(f)
(2)

(h)

(a)
(b)

(d)

(e)
(1
(8)
(h)

6

1x6=6
Y - “B”

V3

cos9,

tan? q

1

Y3y
0

360

COllI mn — “ B”

B

%XZM‘
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s B @ 4R | TE ¥ gwy fatag 1x6=6

(i) ppdl AP & nal 7§ & F A fafta
RIS SRR RUSE AL g & Hye fafag
(i) g9 B VS ar @ ufyw feflag)

(v) foma @ axl+bx+c b A B TEEA B fafEa

(v) qa%miﬁﬁaﬁuﬁmmﬁ-‘rftﬂm

(Vi) @ﬁ%ﬁﬂ@gﬁmﬂﬂﬁml

Write the answer in one word / sentence of each :

(i) Write the formula of finding n term of an AP

(i) Write the statement of *‘Basic Proportionality Theorem™.

(iii) Define **Secant line” of a circle.

(iv) Write the formula of product of zeros from quadratic polynomial
ax’ +bx +c.

(v) Define the point of contact in the circle.

(vi) Write the formula of area of segment of a circle.

wEnd 6 s 20 &1 H.CF. v @ 2
[;ind the H.C.F. of the numbers 6 and 20.

sya /| OR
WO 140 @ g M@El & TR & &9 § @E il

Express the number 140 as a product of its prime factors.

1 !
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o G 3 x4 & @ T A

7
Find the zeros of the quadratic POI)'lmmial Ix--x-4.
asqa /| OR
o fed ague ma A, e g @ a4 w o | ¥
Find a quadratic polynomial. the sum of zeros is 4 and the product of
zeros is 1.
a, b c
8 ﬁnﬁﬁiﬁaﬁwg’ﬂ%ma—',b—'ﬁfﬁﬁmwmm 2
2 "2 2
qary 5 '@ @ ¥ @ T ¥
Sx-4y+8=0
Ix+6y-9=0
al bl cl . . . .
Find the ratios —,— and — for the following pair of linear equations
a b, €
and say that it is consistent or inconsistent.
Sx-4y+8=0
Tx+6y-9=0
g /| OR
frfefan tes wdar gm & @ St
Solve the following pair of linear equations:
x+y=14
X=-y= 4
/ T-
T-0659_A 8 IRNEINNNRNIN P.T.O.
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9 A g AP % 9w @ w fifan

4, 10, 16. 22. ...

Write next two terms of given AP

4, 10. 16. 22, ...

sy /| OR

A Ry gu g & T S
34 +32 +30+ ... + 10

Find the sum of the following:

34 +32+30+ ...+ 10

10 fsd@t APQR @ ymalt PO ol PR W wmw: fag E ol F Rua ¥ 2
Tareu @ @@ EF|| QR & w&fs -
PE=4cm, QE=45cm, PF=8cm, RF=9cm
E and F are imints on the sides PQ and PR respectively of APOR .
State whether £F || OR - when
PE=4cm, QE=45cm, PF=8cm, RF=9cm

sy /| OR
apfa & o PO || RS ¥, @t fag @fg
APOQ ~ ASOR
In figure, if PQ || RS, prove that APOQ ~ASOR
R
P
0
Q S o
100 | / T-0659_A 9 MENNINIMNNNN PO,
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11 fegelf (-5,7) o (-1.3) % 4@ & g wa B 2
Find the distance between the points (-5.7) and (-1, 3).
@ [ OR
fruifta Afie 6w g (1. 5). (2.3) afvt (-2.-11) & ¥

Determine if the points (1. 5). (2.3) and (=2, -11) are collinear,

12 _1'$IH'E‘IT"IHTHH§TR‘I‘I.ﬁl’ﬂ*ﬁﬂﬁﬁf’(l-])m{)(lo,y)ﬁiﬁa 2
Q10 s 3
Find the values of y for which the distance between the points P (2, -3)
and ¢ (10.) is 10 units. https://www.mpboardonline.com
s [ OR
fag 4 & fridyis s@ Sy, mT 48 wF 70 =1 = t, Praw F¥ (2.-3)
t a B & fais (1,4) ¥
Find the coordinates of a point A where 4B is the diameter of a circle whosc

center is (2,-3) and coordinates of B are (1, 4).

13 af gwaw e 4BC 4 4B =wwav a1 AB=4cm, BC=3cm &, @ 2
sinA T cos 4 & AR W Hiwa)
If in right-angle triangle 4BC, ZB = 90°and AB8=4 cm, BC =3 cm,

then find the value of sin4 and cos 4.

qar /| OR
A9 T B
sin 60° cos 30° + sin30° cos 60°
Find the value of :
sin 60° cos 30° + sin 30° cos 60°
100 | / T-0659_A 10 IERINI AR P.T.O.
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| ' Wt @rd g
y maﬁmﬁ;%@fgﬁésﬁ;ﬁrwm&afaﬂm@ﬁﬂ?

et )

that the tangents drawn at the ends of a diameter of a circle are
Prove HE

parallt‘l-
@ /| OR

ﬁﬁggﬁﬁqﬁwmaf%@aﬁmmwamgaﬁéﬁ'ﬂ{&
q

ah boA 39 @ B s S

rrom a point Q. the length of the tangent to a circle is 24 cm and
the distance of O from the center is,25cm. Find the radius of the

circle.

(5 15 41 99 U% IR 99 & dqM & U BN W o g2 / TH °IS 2
# SO W @ ¥ 9y R o ) T ST 6 AgE & I9 9T &

%A el 91T ug 9y Gahdl |

A horse is tied to a peg at one corner of a square shaped grass field of

side 15m by means of a 5m long rope. Find the area of that part of the

field in which the horse can graze.
syar /| OR

Bl 218k ot ga @1 e G W W 60° B B ok wRaT E
R ) E

In a circle of radius 21 cm, an arc subtends an angle of 60° at the center.

Find the length of the arc.
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16w o R 3 ws ax ¥ed ¥ @ B .
(i) 4% 80 gem wra 2% & wifea
(i) 4 4 oA dom wa A N Tl
We throw a die once. Find thal
(i)  What is the pmbabi!itylul‘ getting a number greater than 47
(ii) What is the probability of getting a number less than 47
sy /| OR

e TET Y A T 52 Tl @ U T ¥ § W U i S ¥
uftear of@fag #ife i a8 o=

(i) & @@ em

(i) =& gam & Bm

One card is drawn from a well shuffled deck of 52 cards,
calculate the probability that the card will -

(1) be an ace

(ii) not be an ace

B3

17  6vq 9291 58 ®ed 7 AEWE 92 B UG &1 A9 oo ear 7

What is an impossible event? What is the probability of an impossible
event?

dyar /| OR
ae P(E)=095 &, @& “E 98" & swifmay @ 37

If P(E)=0.95, then what is the probability of ““not E”?

100 | / T-0659_A 12

LTI T

https://www.mpboardonline.com



18 ovg REET R g 8, 9 o 25 & H.CF wd L.CM. s @i

Find the L.C.M. and 11.C.I. of 8. 9 and 25 by applying the prime factorization
method. o

aqa /| OR

zgfze 6 7VS s amfg wen R

Prove that ?\E is irrational number.

19 e @fm f5 x° - 2x = (-2)(3-x) @ feaa FHHT &

Check whether that x° —2x=(*2)(3—x) is a quadratic equation.
aar [ OR

frard @d@ 6x2—x-2=0 & q@ wd HC

Find the roots of the quadratic equation 6x>—x-2=0.

L7

20 qﬁ%%ﬁgﬁﬁ%%w—ﬁgézstﬁaaﬁ{ﬁwtﬁ?ﬁ%
for@T &1 T=aT @ 60° ¥ | WA B FHAE T DIl

The angle of elevation of the top of a tower from a point on the ground. which
is 25 m away from the foot of the tower is 60°. Find the height of the tower.

sya | OR

qﬁﬁwﬁqﬁnﬁzoﬁaﬁw%ﬁﬁmwaﬁ@mﬁm%aﬁm
for@T % TG A FHL 45° 3 60° ¥ | WHAT B Fag T AIAT|

From a point on the ground, ¢he angles of elevation of the bottom and the top
of a transmission tower fixed at the top of a 20 m high building arc 45° and

60° respectively. Find the height of the tower.
/ T-0659_A 13 MR MLEIN P.T.O.
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22

100

Wow gia g & &\ BT
3x+4y=10 Y 2x-2y=2
Solve the pair of lincar equations -
3x+4v=10 and 2x-2yv =2
s / OR
A s A e H ot & A 9 ¥ 3@ dew & A TN, wEw b o B e /
T gEm H A W A gE wqE qW ST
The sum of the digits of a two digit number is 9. Also, nine times this number

is twice the number obtained by reversing the order of the digits. Find the

number.

T FH TE $GA B 3097 & AHR & &, fed A A 9 ue-ud areden
T B Bl QU S B T 14 mm ¥ iR IEH AW S mm ¥ 3@ g
HBe A AT

A medicine capsule is in the shape of a cylinder with two hemispheres stuck

to each of its ends. The length of the entire capsule is 14 mm and the diameter

of the capsule is 5 mm. Find the surface area. https://www.mpboardonline.com
dya /| OR

U% FHEHTH T & ATBIT B UF wde) q 1 &, v wem @ % fre 9 s
TE T EC ¥ wA &t R 15 W < 10 A x 3.5 ¥ | wdes Ty @) B 0.5
¢ ol e 1.4 & ¥ QU S ¥ W) @ omgad s S

A pen stand made of wood is in the shape of a cuboid with four conical
depressions to hold pens. The dimensions of the cuboid are 15 cm by 10 cm

by 3.5 cm. The radius of each of the depressions is 0.5 cm and the depth is
1.4 cm. Find the volume of wood in the entire stand.

https://www.mpboardonline.com
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23 PrAfafad @il fed Bem % 25 ofar & wiew w g e wm @

29l Bl o

@ IugH fafy oo Wi wogan wm amm gma @i

T = (veai ) 100 - 1501 150 — 200[200 - 250{250 - 300|300 - 350
qiEa f d@n 4 5 12 2 2

The table below shows the daily expenditure on food of 25 houscholds in

a locality. Find the mean daily expenditure on food by a suitable method.

Daily expenditure (in Rs.)

100 - 150

150 - 200

200 - 250

250 - 300

300 - 350

Number of housecholds

4

5

12

2

2

HAYql

[ OR

frerfefea aiee 225 faerell Sumtel & Sfwa offew @@ (B7 #) & gEW <
IGHM H qEAS AGT B TG BIAC |

A T (T H) | 0-20

20 -40

40 - 60

60 — 80

80 - 100

100 - 120

AT 10

35

52

61

38

29

The following data gives the information on the observed lifetimes (in hours)

of 225 electrical components. Determine the mode lifetimes of the components.

Lifetimes (in hours) | 0-20 | 20-40| 40-60 |60 - 80|80 - 100|100 - 120
Frequency 10 35 52 61 38 29
100 [ / T-0659 A 15 TN MIEREEN P.T.O.
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